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1.3 g4 $q 9,973 10,853 -880
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1]t R w2 ¢ B Qhd ¥ 6,758 6,710 48
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2. [z A=A AL 300 300 0
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3. A EA] | 1,000 1,000 0
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2.3 A A A 6,540 6,540 0
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1. 2B A 4,100 4,100 0
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1. 2378529 12,470 12,430 40
L[z 7Y 1,000 1,000 0
13530 E 1,000 1,000 0
2. [Z]WARG W IA (K =A) Y 0 0 0
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1w weAY 14,070 14,070
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2. BARFAL LA 24,358 24,343 15
LIFIHFXY 338d 2 AXNFLS 3,710 3,710 0
1.3719% 2,800 2,800 0
2. A8 ER 120 120 0
37w e e 790 790 0
2. [Fr1fA1 AR A 3,620 3,620 0
1. 4Rk=8-] 1,620 1,620 0
2. v FT9H 2,000 2,000 0
3. FIFAAED 17,028 17,013 15
1,914 8] 7159 7,144 15 (Té E%Engf?w T 2GEE T 15,000
2. x99 6,600 6,600 0
3.994] 600 600 0
4. 5-Frol= 519 519 0
5. 3FA B A 1] 450 450 0
6. 1] 41l 1,700 1,700 0
2,414 ] fA 79,200 75,352 3,848
1. 3F AL ] 6% 79,200| 75,352 3,848
1.[2]3F a2 AAT = 16,751 16,751 0
1.3718% 11,090 11,090 0
2. A8 ER 1,200 1,200 0
3NETTFaT 4,461 4,461 0
2. [N HE LS 5,240 5,240 0
1. dRkE8n) 5,240 5,240 0
3. (21 gae 11,006 11,389 -383
1. k=89 11,006 11,389 -383 Al AR ET]] 1 -383,0009%13]= -383,000
4. [z]sh84 e 1,200 700 500
1. gRkEgn) 1,200 700 500 | B A ARFT]] ¢ 250,000 +23]= 500,000
5. [IAATHY A7 25,379 21,088 4,291
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AES A e S 208 208 0
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